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Question (1):
the population from which this sample was taken is significantly
greater than 40.

36 50 36 55 55 45 38 42 53 65

Find the point estimate for the population mean.

Find the point estimate for the population standard deviation.

State the null and the alternative hypotheses.

Determine the test statistic.

Find the critical value(s).

Find the p-value.

Use 5% significance level to determine whether or not the mean of
the population is significantly greater than 40.
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2. Your statistics instructor claimed that the average of STAT 2361 was
at least 75. To test the instructor’s claim, you as a student select
sample of 30 students. The average grade in the sample was 73 with a
standard deviation of 8.

a. State the null and alternative hypotheses.

b. Using the critical value approach, test the hypotheses at the 1%
level of significance.

c. Using the p-value approach, test the hypotheses at the 5% level of
significance.
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4. At a local university, a sample of 49 students was selected in order to
determine whether the average age of the students is significantly
different from 21. The average age of the students in the sample was
23. The population standard deviation of the ages is 3.5
a. Formulate the hypotheses for this problem.

b. Compute the test statistic.

c. Determine the p-value and test these hypotheses. Let a = .05.
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9.5 Hypothesis testing about the populaﬁmroportio@f A st
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Let p,be a given value for p in Ho. a given level of significant.
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b. What is the p-value?
c. Ata = .05, what is your conclusion?
d.

What is the rejection rule using the critical value? What is your conclusion?
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A Birzeit University professor claims that 7 more of students attend his on-
line lectures. A student council is suspicious of the claim and thinks that the
proportion is lower than 75%. A random sample of 120 students show that on@
students have ever done so. Is there enough evidence to show that the true
roportion is lower than 75%? Conduct the test at 1% significance level.
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1. A simple random sample of@ items resulted in a sample mean of
1257.85 and a standard deviation of 480. Develop a 95% conﬁdence 35

—

interval for the population mean. ne ¥4 "_ . s n
= U4, X=1263.¢5, §=Y3s
X 1ty & ==p 1253.85 + (1.96) (4Bo)

2Jn 12
1252.5 + IR

. In a random sample of 400 BZU students, 240 students indicated that
they are from Ramallah. Develop a 95% confidence interval estimate
for the proportion of all BZU students who are from Ramallah.

h=4Yo0, X =240, Q$/ py\u\)of\-‘d\q
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3. The manager of a grocery store wants to determine what proportion of
people who enter his store are his regular customers. What size
sample should he take so that at 97% confidence the margin of error
will not be more than 0.1?
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The manager of a grocery store has taken a random sample of 100
customers. The average length of time it took the customers in the
sample to check out was 3.1 minutes with a standard deviation of 0.5
minutes. We want to test to determine whether or not the mean
waiting time of all customers is significantly more than 3 minutes.

a. State the null and the alternative hypothesis

b. Find the test statistic is

¢. Find the p-value

d. At 5% significance level, what is your conclusion?
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5. A random sample of 100 people was taken. Eighty-five of the people
in the sample favored Candidate A. We are interested in determining
whether or not the proportion of the population in favor of Candidate
A is significantly more than 80%.

a. State the null and the alternative hypothesis

b. Find the test statistic is

¢. Find the p-value

d. At 1% significance level, what is your conclusion?
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